AOTIZTIKOI APIOGMOAEIKTEZ — ACCOUNTING RATIOS
1. Ap1Opodeikteg PeuotoéTnTag — Liquidity Ratios.

e ApiBpodeiktng Kvkiogpoprakrg Pevotdmrag (Working Capital Ratio or Current Ratio).

Kvkhopopiaxkd Evepyntikod

Ap1Bpodeixtng Kvkhogoprakng Pevotomtog = Bpayumpofeoyio Tadn ks

Current Assets

Working Capital Ratio = Current Liabilities

o ApBuodeiktng Ipaypatikng Pevotomtog (Quick Assets, or Liquidity or Acid test ratio).

Kvkhogpoplaxd Evepyntikd — TeAkd AndBepa
Bpayvrpobeopo IMabnrtikd

ApBpodeiktng lpaypatikng Pevototrog =

Current Assets - Stock

Quick Assets Ratio Current Liabilities

o Ap1Bpodeiktng Apeong Tapelaxkng Pevotémtoag (Immediate Cash Ratio)

Tapeio + Tpanela
Bpayvrpobeopo IMabntikd

Ap1Bpodeixtng Apeong Tapewokng Pevotdmrag =

Cash + Bank
Current Liabilities

Immediate Cash Ratio =

e ApiBpodéktng Kvkhogpoprakrg Tayxdtntog Anobspdrov (Epropevpdrov) (Stock Turnover
Ratio).

Kootog 10v [ToAncewv

ApBpodeixtng Kukiopopraxng Toayvnrtag Amobepdrov =

Méoog Opog AnoBepdrmv
A n A
Méooc Opoc Amodepdrev = Apywod AmoBepa - Tehko AmoBepa
Cost of Sales

Stock Turnover Ratio = Average Stock

Opening Stock + Closing Stock
2

Average Stock =

e Ap1Buodeikng Méong Awdpxetog Xopnyovuévev Iictdoewyv (Debtors Ratio).

Xpewoteg X 3651 X 5211 X 12

ApBpodeiktne Méonc Aldpketog Xopnyovpévov Ilicthoewv = KaBopés Mwkfoeic pe iotwon

Debtors X 365 or X 52 or X 12

Debtors Ratio = Net Credit Sales




e ApiBpodeiktng Méong Adpketag Aappavopévov Ihotdocemv (Creditors Ratio).

Mototég X 36571 X 5217 X 12
KabBapég Ayopéc pe Iliotmon

ApBuodeiktng Méong Awdpkelag Aappavouévev Ilictdoewny =

Creditors X 365 or X 52 or X 12
Net Credit Purchases

Creditors Ratio =

2. Ap1BpodeikTeg ATrodoTIKOTNTAG - Profitability Ratios.

o Ap1Bpodeiktng Miktod Képdoug (Gross Profit Ratio).

Muktd Képoog X 100
KoBapég [Toinoeig (Toig petpnroig + pe mictmon)

ApBpodeixtng Miktod Képdovg =

Gross Profit X 100
Net Sales (Cash + Credit Sales)

Gross Profit Ratio =

o Ap1Buodeikng Kabapod Képdovg (Net Profit Ratio).

KoBapd Képdog X 100
KaBapéc IToinoeig (Toig petpnroig + pe mictmon)

ApBpodeixtng Kabapod Képoovg =

Net Profit X 100
Net Sales (Cash + Credit Sales)

Net Profit Ratio =

e ApiBpodeiktng Amodotikodtnrag Amacyorovpévov Keparaiov (Return on Capital
Employed).

KoBapd Képdog petd m @oporoyia
p ; X 100
Amnacyorovpevo Kepdiato

Ap1Bpodeitmg Anodotikotntog Atacyorovpévov Kepaiaiov =

Amacyorovpevo keparoto = Metoyikd Kepdiato + AmoBepatikd + Opoloyieg + Makponpofecpo Adveia

Net Profit After Tax

Capital Employed X 100

Return on Capital Employed Ratio =

e Ap1Buodeiktng Amodotikotnrog Kowwov Metoyuod Kepaiaiov (Net Income as a
Percentage of Equity Capital).

KoaBapd Képdog petd m Popodroyio — Mépioua [Ipov. Metoyav
; . . , X 100
Metoyid Kepdraio Kowvov Metoymv

Ap.Anodotikomrog Kowod Metoykov Keparaiov =

Net Profit after Tax — Preference Dividend

Equity Capital (Ordinary Share Capital) X 100

Net Income as a Percentage of Equity Capital Ratio =



3. Aiagpopol adAAol ApiIBOdEIKTEG.

¢ BaOuodc E€apmoemg Kowvod Metoywov Keporaiov (Capital Gearing Ratio).

, , , , Fo Metoykd Kepdhaio Kowav Metoyav
Babuodg E€apthiceng Kowob Metoyucot Kepataiov Metoyucd Kepdhato ITpov. Metoydv + Maxpompobeopo Mabntikd

. . L Equity Capital (Ordinary Share Capital)
Capital Gearing Ratio Preference Share Capital + Long Term Liabilities (Fixed Interest Capital)

o Yyéon AmoBepatikadv kot Kowov Metoyikod Keparaiov 1 Babpog Avtoypnpatodotnoemg
(Reserves to Equity Capital Ratio or Self Financing Ratio).

. , , , L Amobfepotikd X 100
Yyéon AmoBepotikdv kKot Kowob Metoyikov Kepoaraiov = Metoycs Kepdhato Kooy Metoyoy

. . . Reserves X 100
Reserves to Equity Capital Ratio = Equity Capital ( Ordinary Share Capital)

o [Ipayuatikn A&io Metoyng (Net Assets Value of Shares).

, , , , Meroywd Kepdroto Kowvav Metoymv + Anofspotikd
ApBpodeiktng [payupatikng A&lag Metoyng = A (E)Apteuég Koy Msfox(bv =

__Ordinary Share Capital + Reserves
Net Assets Value of Shares = Number of Ordinary Shares

¢ [Tlocoo16 pepioparog tov Kotvov Metoyikov Kepaiaiov (Dividend as a Percentage to

Ordinary Share Capital).
, , , , Lo Mépiopa Kowadv Metoyamv
IMocoot6 pepiopartog tov Kowod Metoykov Kepolaiov Metoyuicd Kethato Koy Metoxdy X 100
.. ) ) Ordinary Share Dividend
Dividend as a Percentage to Ordinary Share Capital = Ly X 100

Ordinary Share Capital
¢ BaOuoc Kalvyewc Mepiopatog [povoptovywv Metoyav (Preference Dividend Cover).

. , , , . KoBapd Képdog petd t Popolroyia
Babpoc Kalvyewg Mepiopatog [Ipovopodywv Metoymv Méptopa Hpovopiobymy Metoydy

Net Profit after Taxation

Preference Dividend Cover = Preference Dividend

¢ BaOpog Kolvyemg Mepiopatog Kowvav Metoymv (Ordinary Dividend Cover).

, , . , , KabBopd Képdog petd m Poporoyio — Mépiopa Ipovop. Metoymv
B K M K M =
abuoc Kaldyemg Mepioparog Kowdhv Metoydv Méptopa Koty Metoyy

Ordinarv Dividend Cover = Net Profit after Taxation — Preference Share Dividend
Yy Ordinary Dividend




o Ap1Bpodeikng Amoddcewg oe Képdn ava Metoyn (Earnings Per Share Ratio).

KaBapd Képdog petd m Poporoyio — Mépioua Ilpovop. Metoyamv
ApBuog Kowdv Metoydv

ApBpodeiktng Anoddoewg og Képdn ava Metoyn =

Net Profit after Taxation — Preference Share Dividend
Number of Ordinary Shares

Earnings per Share Ratio =
o Ap1Buodeiktng Anddoong Metoyng oe Mépiopa pe Bdon v Tpéyovoa Ty (Dividend
Yield).

Mépiopa avé Metoyn
Tpéxovoa A&io Metoyng (Tyun Ayopdc)

Amnddoon Metoyng oe Mépiopa pe Baon v Tpéyovoa Tym = X 100

Dividend per Share
Market Value per Share

Dividend Yield = X 100



